FACTORISING BY GROUPING IN PAIRS

Factorise:
1 alx+2)+b(x+2) 2 3a(2b-3c) —m(2b - 3¢) 3 pla+b)+qla+b)-ra+b)
= (142) (a+ b) = (2b-3)[3-m) = (atb)[prq -r]
4 ¥(2x-1)+4(2x—-1) 5 ax+4a+bx+4b 6 X —xy+xz—yz
= (2-1) (xl+4) = a(X+4)+ b (x+h) :L(x—g)‘w(l-g\
= (x+4) (a+b) = (’)(,—Cl))[‘.l,‘l'l)
10 @’ +3a’b+ab’ + 3b° 11 ac - 2bc - 2ad + 4bd 12 3xy—-6y+7x—14

- a*(atab)+b(at3b) = c{a-zb)+d/,za+4§) _ /31-? N ;gl_z))
_ 2y p2) = fa-2b)-24(a-2) =8, k2 tHE
_ (a+3b)(ax+ - [a[_ZB)/c—ZM _ ["“2)/‘7’3 +7)

16 X'+ 37 +4x+12 17 p'q-pq’ +5p—5q 18 m'p+m’+np+n

= (OB o pg (p-q)+5(pg) = ne[prr) +r(pt)
= (43) (2 +4) = (p-9) (3 +5) = (pt1) (m>+n)

19 Fy+x+y+1 20 ab-3a—-4b+12 21 2x—6y—xy+3y°

= X}‘(J‘H) +(J 'H) = cx{b—3> —-4/1)—3) = 2,(2_—333 +(j (—1’—‘{"?y>

= L+ 1) = /5-53 /&—4) =2 (x=3y)- {1“353
(3+|)/ | :(l_%))(g 'j)

22 When 3m® = 3mn — m + n is factorised, the answer is:
E (B3m—-1)(m—n) B (Bm-n)(m-1) C (Bm-=1)(m+n) D (Bm+1)m=-n)

ZME_3mn —m +n = Bm(m—n) = (M-n) = e (3w 1)

23 Indicate whether each answer is a correct or incorrect factorisation of 2x” — 2x* = 2x + 2.

@ 20+ D+ D=1 [0} 26+ Dx=1)° [©) 26+ DEx=Dx=1)  (d) 2Ax=D(x+1)
20222 _ 2+l = L[ X xT-x+]
= 2 [ (x-1) - () =2 [re-1)[2-1)
=2 (x-I) [x-1) (x+1)
=2 (x-N{(x+1)
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